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l.a)- | Draw the samplmg function and mentlon its propertles , 2]
b)  Whatare Dirichlet conditions? 3]
%) Findghe Fouriertransformyof unit stepgignal. gz aw 21 gm
d)  Define aliasing. ' " - Bl
¢)  Distinguish between LTI and LTV systems. ' [2] )

- )  Define Signal Bandwidth and System Bandwidth. . 31 o
%8  Shogrthatx(t) x:8(0) = x). .. me 2] smo
h)  State and prove Parseval’s : 31 -

‘i) - Find the Laplace Transfo [2]
D Fmd the z transform of , [3] '
" (50 Marks)
2.3) - Explain how ion ca oximated by a orthogonal functions. o
%)  Disdutss the ofm pUlse . Explam ‘How signit functionfs - 2%
- expressed i terf i on? [5+5]
Congider full: s < ' peak amphtude ‘11 xgnd time Penod ‘1’ -_

[545]
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_ State and prove tlme convolutlon and time dlfferentzatlon propertles of Fourlef
transform. o
Fmd the Founer transform of the 31gnal x(t) = z—i-t—z-‘? . [5+5]

of sampling low pass mgnals and derive conditions for optimum reeonstructlon of
signal.
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Distitiguish natliral and flattop samplig, B @ L [5+5]
Explam propetties of LTI system
Shomvthat from, the MOwlegge of the impulse response h(t) of a llnear s;stem the
resporise of any drbitrary fiiction cart be obtaindd - : {5451 =
OR
'Obtain the conditions for the distortion less transmission through a
System. - ae an an e 8
Explam causahty and physxcal realmblhty of a system and hence glve poly-
wiener criterion. . : [5+3]

: What is samplmg? Explam the need for samplmg and cleariy discuss the process . -
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§4) Findihe Auto-Goirelationdt f(t) = cB8{(wot) andSketch, 2
b)  Explain about graphical procedurc to perform convolution, with an example.
: [5+5]

a< 0 F ind the 1n{/erse Laplaée transform of X(s) = m'

for a<1 and a>1.

'b) Find the inverse z - transform of X(z) = mwﬂh ROC [z|>2 - [5+5]




